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tan A = 0.5 & T, sin A + cos A 2] Z27(H, 0° <A <90°)
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11. cosA = - ¥ o, 20sin A x tan A 9] ZF-22(H, 0° <A <90°)
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18. sin(3A-45°) = cos (% + 15") 2 o], tan A xtan B 9] Zk-2 FLSHH?

(2, 15° < A < 45°,0° < B < 90°)
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19. AZmie] 28 Ba, oA 7P 2F2 g 7P 2 el Aks ?

Zte sin cos tan
10° 0.1736 | 0.9848 | 0.1763
20° 0.3420 | 0.9397 | 0.3640
35° 0.5736 | 0.8192 | 0.7002
45° 0.7071 | 0.7071 | 1.0000
@ 0.6225 @ 0.8112 ® 0.8264

@ 0.8437 ® 1.1736
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@ sin35° = cos H5°
@ sin55° = 0.82

3B cosb5° = cos ,0DC
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@ sin35° = 0.70

Zol7} 1 9 AN &7




24.

tanA =

@

N | —

1
2

o of

"1+ 2cosA xcos (90°

@

cos? A — cos? (90° — A)

®

W =
A~ —

—A)

O]

of #2?

O



25. TR JRIT} 2ol Mg Wolrk 1 A AR ThE BE 0]85

o] BD 9] do|& +otH?
yi\
1.0724 C
1 A
:'E .
0] B D T
(afZtd|e] #)
% sin z cos T tan =
43° 0,6820 0.7314 0.9325
44° 0.6947 0,7193 0.9657
45° 0.7071 0.7071 1,0000
46° 0.7193 0.6947 1.0355
47° 0,7314 0.6821 1.0724
@ 0.2807 @ 0.3179 3 0.6821

@ 0.7314 3 0.9657



